Al

Al 2

-1 =

=1 )

L

1. A=V2+V3, B=v6—-v3<m, 2438

2.

w29 (81 2, 3lst
@6-3v2+5 @ VB+3vZ-5

® V6-3v2-5 @ —V6—-3vV2+5

® —V6+3vV2-5

V2(V2+V3) = V3(V6 - v3) = V6 -3vV2+5

1 2, stet]

V3A+ B =32+ v2)+ (3—6)
=2V3+vV6+3—-v6=2V3+3

1 2,

s}s} ]

12 4

V2 /8

_12v2 4
V22 22
:12\/5 24/2

2 V22
=6v2—v2=5V2

5V

3] stoler.
[ 2, skt ]

- V(3 VR £

SN I

2
=42 -3v3-3v2+4/3
=v2+V3




5.

V12— 3VA8 — 3+ 2T = AV3 4 o, a5 A <]

e 2, Stot]
®5 @-6 ®-1 @8 © -9

V12 —3v48 — 3+ V27

=23 -12v/3 - V3 +3V3

=-8V3

wtakA A = -8 o]t}
g % V4.3 = 2.074 Y2 o]-g5to] ARS8
T 9= AS =9t

@ +0.043 © V430

© V0.43 @ 43000

i 2, 5k ]

> £
> Heh: ©

B ~

43 43 2074
@ v0.043 = ‘/ﬁ ST = —— =0.2074

10
© V430 = V4.3 x 102\/:_ 10v/4.3 = 20.74
43 43

V043 =/ — = —
SR 100 10

@ V43000 = V4.3 x 10% = 100v/4.3 = 207.4
OB 2 /43=2.074 Y o] &35} TAZS T+

I % gk AL ©oltk.

8.

H7
A 2v2=18 © —2v7=-V14
NCENE VT o7
© 5 =Vi @ ¥ -y;
HA 2, sk ]
> g
> &
> dHe: O
> &g ©
vioo7
©-2i-—vE. e ¥ -/
e F & 2 ALY [ 2, o]
® v20 =25 @ V2T =33
® VIS =43 @ —/50 = —5v2
@)-vzs = -3v7

‘ ©® —v28 = —2v7




10.

ohe A HA 9 2A , N

2]0] Zoo] gHes e Ve
3 2, 3k

® 123 +8V7 @12v6+ 8v7

® 286+ 35 @ 286+ 87

® 286+ 9v5

B

A e] Aol g2

4(vV24 + V28 + V6) = 4(2V6 + 2V7 + V6)
=4(3v6+ 2V7)
=12v6 + 87

Oha 271 S 24 g2 227 [Wd 2, 315 |

D VB-V18++32=3V2

@ V27— V48 + V75 =43

2 32
@_E—’_E =42

@ /54125 — /324 3vV2=6v5 -2
® V12+3v3 —VT+163 =53 +2V7

® 3v2

11.5¢§_m—%+\/ﬁ:m+w§@ o, e
o, b o] e Fotolet, EIE 2, oF

Ct -

o ol oo
IS
Il
S

\VARVAR 2B 4
0x oX

B

2
5\/5—\/7——ﬁ+\/ﬁ

=5v2—-5v3—v2+2/3
=4v2-3V3
oltt, WatA o =4, b= -3 olt}.

12.\/E+\/ﬁx%—\/1—+\/§=x 52 uEsie
K2 g O ZhS Fatola), vl 2, 5% ]

| 2
> HMEe: 5

Ct -
[ =

-

5V5 x=5




13. V75 - % = 7155 shofe). A 2, 5%
T
> HE: 2v3
9Vv3

V75 — 7 =v5ExX5x3— W

=53 — 9\/_

=53 — 3\/"

=923

14. 5v2 + 3v/5 x 6110 = 7r+3] Shojat,
Ml 2, oF5 ]
> E:
> HE 20

B

1
5\/§+3\/5x6\/ﬁ=5\/§xﬁx6\/1_0
=10v2v2
=10x 2
=20

(W13 3, SH ]

15. V48 & av/b o] B2 Lefd?

@avs

@ 9v2

@ 5v3 ® 6vV3

® 12v2

VA8 = /A x 4 x 3 =43

12 18
HH 3, SH ]
© 7V3+2V6 7\/_—2\/_
3
3 —7\/§3+2\/6' Q 7\f 2v/6
5 7\/§3—x/6
B
2 10 6
ﬂ§_6_0 122;+\/§(\/ﬁ_ )
RIS
2v/3 246 V3 246
R R R A G e i

& ab®] g7

17. &2 BEohs R85 o, b9

M1 3, SHA )

®:

D1 @Vv2 ®V3 @2

5 7 5 2 \/§
— - = —_— —_ = _——= b
W X V5= V9% 35 %5 5= Vo
a:2,b:g°]EEab=3




18. 045 2 av/5 o B2 Uehfele o, o ) ghe 75t

i REENE Y
1 3 4 ) 5
P Wy On @0 95

15 32x5 35
VI Vi TV e T
La

~ 10

19. vV3=1.732 & o, /3 +/300 & ZAELE 25 EA
-2 7k2] Fstol et (81 3, 3HF ]

Ct -
| — ]

>
> HEh: 19.05

V3+ V3 x100 = V3 +10v/3 = 11v3= 11 x

1.732 = 19.052
20@_£2 7hr —6—] ]—Oqlﬂ],]\/_ \/_ \/_

£ 720a] shelely Vo 2 T, A5 0+ b o] gL
LEEREED

@3 @ 6 @14 @18 © 24

18 = /10 °|B& g = 10

\/> \/Zougb_

kA g+ b =10+ 4 = 14 o]t}

21. 7t229] Ao)7} 6v/2 o|1L

AZFe s ol vt e @*h

avb 9 T2 JERYH? (T,

A4

) _--6/2---
O 2v3 @ 3v3
@ 53 ® 6v3

o 1 S

A2

Wi 3, S5t ]

@avs

48 = 4v/3 ot}

211121 o] Yol 64/2 x 44/2 = 48 o[t}
b 22 = 48 o] B & AAFZF 9] 5t W o] Zo)

LEE]

\/1?5><\/§><\/1_5:30




23. o2 AFTHE olgste] V00313 9 e Tatolel.

5 0 1 2 3 4 5

3.0 [1,732/1,735 1,736 1,741|1,744 /1,746 -
3.1 1,761 1,764 1,766/1,769 1,772 1,775 -
3.2 1,789 /1,792 /1,794 1,797/1,800 /1,803

(B 3, S5t

313 V313 _ 1.769

v/0.0313 = =
0.0313 100 10 - 10

= 0.1769

24. 2z =72 4 1, 2¢/3v22 & 7ot}

(¥l 3, &3}

-

[ — ]

» C
|> ek 19

oHd =

B \

2v/3v2z = 2/3v2 x 72
=2/3v2 x 2 % 36
=23 x 12
=2x6
=12

t& Al 4 A, B, C 9 dia #AE Fsh L gt
s F da #AE Uehd Zles 59 Ae BF
AEH?

A=V6+V3,B=vV6+1,C=3+3

(M4 3, S5t ]

D)A< B ® A>B
® A<C @IC<B<A
® B<A<C

(DA-B=(V5+V3)—(VB+1)=v3-1>0
(2) A-C = (V5 +3)-(3+v3) = v5-3<0
(1), (2)° Ao S5t B< A< C




